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2022
( June/July )

POLITICAL SCIENCE
( Core )
Paper : C-3
{ Political-’fheoiy : Concepts and D_e_bhtes }

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions _ o

1. Answer/Choose the correct answer of the
following : ' 1x8=8

{a) “Over his body, mind and soul the
_ individual is Sovereign.” Who said this?

(b Thinker who does not belbﬁg to
negative liberty school of thought is
{i) Adam Smith '
(i) John Locke
(i) Thomas Hébbes R
fiv)] Karl Marx

22P/1361 - . { Turn Over )



{2) | (3)

{0 Who was the author of the book, On (g) Who wrote the book, A Theory of

Liberty? o  Justice?
{ii Green _ {ii Amartya Sen
(i} Bentham -' ' _ _ : i) John Rawls
iy} J. S. Mill ' ' {ii) Nussbaum
fiv) None of the above | (iv) None of the above o
| {h} Which generétion of human rights
(d) ‘Political liberty without “Economic _ embodies freedom of speech and
equality is a myth.” Who said? assembly? '
(i} Hegel ' o - fi) First
fii} Green _ {ii) Second
(iii) Laski - ' ' : (i) Third
. fiv) None of the above ' fiv) Fourth

(e) Sdcia;l justice demands 2. Write short notes on the following . 4x4=16

. {J legal and political equality fa) Freedom of expr._ession
(i) economic  equality and full _ {b) Importance of affirmative action
employment ' , .. (Reservation)
(it} equal Rights and Freedom . {c) Procedural justice

{iv) absence of discrimination and

presence of equal opportunities {d} UDHR

3. What is Freedom? Discuss in detail the

() The most important Civil Right is positive and negative aspects of freedom.
i} Right to life . - . . 4+8=12
(i) Right to liberty | i ' o |
(i) Right to freedom _ _ - ' _ o
fiv) All of the above o ' - What is liberty? Discuss thie relationship

between liberty and rights.  4+8=12

22P/1361 ( Continued ) 22Pf1361 { Turn Over )



(4)

4. Define the concept of procedural equality.
Discuss the differences between procedural
and substantive equality. 3+8=11

Or _ _
What is Political Equality? Discuss the
characteristics of the Political Equality. 3+8=11

5. Define Justice. Discuss elements and forms
of justice. ' 3+8=11
Or |

Critically discuss the Feminist account of
Justice. o - 11

6. What is Natural Right? Distinguish between
Natural Rights and Legal Rights. 3+8=11

Or

Discuss the Three Generations of Human
Rights. - 11

7. Define fhe concept of Civil Di’so.bedience.
~Discuss - the major debates on Civil
Disobedience. _ 3+8=11

Or

. Define briefly the 'c_oncept of multi-
- culturalism. - Discuss the importance of
toleration in a plural society. 11
O kx
22P—10*/1361 2 SEM TDC PSCH (CBCS) C 3
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2022
{ June/July )

EDUCATION
( Core )

Paper : C-3
{ Psychological Foundations of Education ) _

Full Marks : 80
Pass Marks : 32
Time : 3 hours

The ﬁgurés in the margin indicate full marks
for the questions

1. Answer the following as directed : =~ 1x4=4

{aj Psychologist J. B. Watson was a
structuralist / functionalist/ behav-
_1ourlst / Gestaltist. :

{ Choose the correct answer )

{b] Mention any one objective condmon of
' attentlon

{¢) Intelligence is the ab111ty to deal with
' abstraction. -

' (‘Write True Or.'False- )

22P/1_35"?' o : " { Tum Over)



4.

22P/1357

(2)

(d) Who advocated the concepts of
introvert and  extrovert types of
personality?

Fill in the blanks_ of the following : 1x4=4

{a) ‘Conscience’ means science of

(b} “is the lowest level of cognitive
learning. '

{¢¢ The book, Primary Mental Abilities was
written by

- {d) is t_he_. science of mental health.

Write short notes on the following : 4%4=16

‘{a} 'Four Concepts of Psychology

- Or
Structuralism as a School of Psychology
{b). Home Factors Affecting Learning

(c) Concept of Emotiona.l__lntelligence

(d) Physical Factors of_Persor_ialitjr

Or
Importance of Emotional Training in the
Classroom ' '

Describe the meaning -and :scope of
educational psychology. - 4+10=14

{ Continued )

5.

22P—8000/ 1357

{3)

What do you mean by variables of learning?

Discuss the subject-matter and method of

variables of learning. 2+64_-6'—4 14

Or

What is meant by classical conditioning?

Compare the learning theories between
classical  conditioning and  operant
conditioning. 2+12=14

Describe the meaning and nature of
intelligence. Discuss the attributes of
intelligence distinguished by multifactor
theory of intelligence. 2+4+8=14

Or

- Discuss the various stages of creativity. Point

out the characteristics of a creative child.
- 8+6=14

What do you mean by personality trait?
Describe the various properties of traits.
Discuss the Cattell’s classification of .
personality traits. 2+6+6=14

Or

Define mental health and mental hygiene.
Discuss the aims of mental hygiene, 3+3+8=14

¥ e
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2022
( June/July )

ECONOMICS
( Core )

'Paper :C-3
{ Introductory Macroeconomics )

Full Marks : 80
Pass Marks : 32

ITime : 3 hours

. The figures in the margin indicate full marks
- for the guestions '

1. Answer .the followi'n'g.as directed : 1x8=8
| fa} NNP at market prices exceeds the NNP
“at factor costs by. -
i) indirect taxes
{i}) subsid.ies
: (fii}. depreciation
 fiv) net indirect taxes
- {Choose the correct answer]j

b)) What is meant by Ileakages or
withdrawals from circular flow of
incoimne? '

| 22P/1355 o : ( Turn Over )



()

(d)
fe)

(g}

)

22Pf1355

S 12)

Which' of the following is static function-

of money?
(i Medium of exchange
{iij} Standard of deferred payment
fiii} Store of value
(iv} Basis of credit money
(Choose the correct answer)

What is high-powered money?
What do you mean by open inflation?

Which of the following is the basic
assumption of Keynesian theory? -
fi) Short-term. analysis

. fii) Less than full employment

(i) Both i) and (i

| (iv} Full employment

(Choose the correct answer}

One reason for shifting in the LM
curve is '

(Fill in the blank)

According to monetarist approaéh,

. the BOP deficit can be remaoved by

_(1') reduction in money supply

fii) increase in money supply .

" (if) Neither of them

(Choose the correct answer)

{ Continued }

{3)

3. Write short notes on any four of the following

(within 150 words each) :

{a)
(b)
{c)

{d)
(e}

Scope and significance ~of macro-
€conomics ' :
National income identities for an
open economy '

The Keynesian liquidity trap

Costs of hyperinflation :

‘Monetary multipliers

Answer the following questions (within 500 words

each} :

3. (a}

()

22P/1355b

“Macroeconomics deals - not with
individual quantities as such but with
aggregates of these quantities, not with

individual incomes = but with the
national income, not with individual -

prices but with the general price level,
not with individual outputs but with
the national - output.” Explain the
statement.

: - Or _
Explain the followi_ng concepts
fi) GNP at market price and factor cost

(i) Private income, personal income
and per capita income

{iiif Real GDP versus Nominal GDP -
fiv) GDP deflator '

(v} Depreciation'

(vi) Naticnal incoime

4x4=16

12

2x6=12

. { Turn Over }



4. o
{b}
5. (a)
{b}
6. {a)
(b)
7. (o)
(b)

22P--5000/1355

(4)

Explain the income and expenditure

methods of measurement of national -

income. Mention their advantages and

disadvantages. ' o 6+5=

Or

What is circular flow? Explain the
circular flow of income and expenditure

in a four-sector economy. 2+9=

Explain Friedman’s restatement of the
quantity theory of money.

o ' or

Critically explain Keynesian theory of
demand for money. ' '

Write the meaning of 'inﬂation._'Explain
the anti-inflationary measures adopted

11

11

11

by the Central Bank of India. 2+9=11

. : Or
What do you mean by trade cycle? Write
the features of trade cycle. Explain the -

various stages of trade cycle. 2+3+6=11

Write the meaning of effective demand.
Explain the detérmination of effective
demand with the help of appropriate

. Or

What are IS and LM curves? Show -

how IS and LM. curves can be used
to explain macroeconomic equilibrium.

diagram. ‘ _ 2+9=11

2+9=11

ke ok
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2022
 ( June/July }

ENGLISH
( Core )
Papér : C-3
i I_n_d_ia_n Writi_ng in Eng_.lish ) _

- Full Marks : 80
Pass Marks : 32

Time : 3 hours :

The figures in the margin indicate full marks
Jor the questions

UNIT—
1. (a) Examine the changes in ~ the
relationship between Krishna and

Susila throughout the Tnovel, The
English Teacher. . 15

29P/1349 o { Turn Over )



: Or
Or
| | |
(b) “Narayan is very SucceSSful at involving () Write a note on the portrayal of
i bout i the Deven-Sarla relationship in the
the reader in his story.” Write & _ p
two episodes or situations, in the novel, o  novel, In Cust ody.

The English Teacher, to show how far . .
you agree with this statement. () () Examine how sociel realism is
highlighted in the mnovel, The

. i ' Collector’s Wife.
2. (a) How does Narayan'’s writing depict the |

Jives of women in Malgudi? Explain. 5

Or
or
_ : (i) Explain how gender realities of
(p) How is your understanding of the ' . ) Assam is depicted in the novel,
character of Krishna deepened from B The Collector’s Wife.
the way in which b e behaves during - : .
his wife’s illness until nnmechately after
her death? o _ :
4. Answer either {a} or (b) : r 5
{a} - () Give a brief sketch of Murad in
the novel, In Custody. o
UnNiT—1I : _ ) | -
'- ! or
3. Answer e1ther fa). or ) : . : (i) Write a short note on the
fal ] “Amta Desaus ig Custody intends | - . _ aspirations -~ of . the  female
| to show Urdu as a language -which o _ Chara.ctcrs in the novel In Custody
is dead and finished.” Discuss. | o |
' 20P/1349 (Continued) | 22P/1349 I ( Turn Over)



(4)

(p) () Make a critical estimate of the
character - of Rukmini in The
Collector’s Wife.

Or

fii) Justify the title of the novel,
The Collector’s Wife.

UNIT—LII

5. Answer either (a) or (b) @ - : 15

fa) (i) “Kamala Das voices feminist
concerns in her poetry.” Discuss
with reference to the poem,

An Introduction.

Or
(i) How is Nissim Ezekiel’s poem,

Enterpﬁse a social satire? Explain.

{p} (i} What does the poet H. L V. Derozio
try to convey in Freedom to. the
Slave? Give your own mterpretatlon
and undcrstandmg of the poem.

22P/1349 ‘ (Contmued)

(5)

Or

{iij Comment on the tragic state of
the open~h_a._nded girl in Derozio’s
poemn, The Orphan Girl. '

6. Explain with reference to the context
(any one} : S ' S

fa) With every movement that the scorpion
made his pcuson moved in Moth.er s blood,

. ' they said.

May he sit still, they said.
May the sins of your previous birth be

purned away tonight, they said.

() 1 remember misplacing
a bronze bell
somewhere, sometime..

{c) 1t started as a pilgrimage, - '
Exalting minds and making all
The burdens light. The: second stage
Explored but did not test the call.

22P/1349  { Turn Over)



(6)

UNir—iv

7. Answer either (a:)‘o.r b} :

@

il

L7

i)

Anand proyides a gl_im’ﬁse' into the
British Empire in his short story,
The Two Lady Rams. Discuss.

Or.

Comment on the satirical feature
of Anand’s short story, The Two

Lady Rams.

Do you think that the story,
The Free Radio makes a point
regarding the wisdom  and
understanding of the old?
Elaborate. :

Or

Rushdie’s stories have commingling
of Eastern and Western cultures.
Discuss. '

8. Answer any.'one ‘of the following :

‘fa) Write a note on the idea of alienation
and entrapment that the narrator
experiences in the story, The Intrusion.

22P/1349

15

5 -

{ Continued }

(7))

b} “We looked blatantly out of place there.,”

What

Is the source of the - Line?

Who are ‘we’? Describe the place as

introduced by the speaker,

22P—4000/1349

 243=5
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. 2022
( June/July }

HISTORY
( Core }

Paper : C-3
{ History of India—II )

Full Marks : 80
-Pass Marks: 32
Time: 3 hours
The figures in the margin indicate full marks
Jor the questions

1. (@) Answer the foliowing questions in
one word or in one sentence each :
' 1x8=8

| i) Who was the author of ‘the work
Tndicq? _
fiii Who was Pushyagupta?
(i) What was Rajapanya?
fiv} 'What are the Gana-Sanghas?
{v) Who composed Milindapanha?
(i;i} Name the Greek ruler who was
defeated by Chandragupta Maurya.
(vi) During which North Indian king's
reign Hiven Tsang visited India?
22P/1359 _ . { Turn Over)



(2)

{vitil In which state of India the Ajanta

Caves are situated?
{b) Write short fiotes on any three of the
following : ' _
i) Ashokan Edicts
i} Sangam Literature
fiii} Purusharthas and Samkaras
{iv) Mahabalipuram
(v} Fa-Hien - '

2. Discuss the non-agrarian economy from 300

3.

22P/1359 - .

BCE to 300 CE with special reference to
commerce, craft production and currency.

Or

Explain the concept of Varna and Jati in
Ancient India. What were the factors which
lead to the development of Varnasankaras
and proliferation of Jatis in your period of
study? ' o

Make an estimate of Chandragupta Maurya
as a congueror and ruler,

Or

Give an account of the rise and fall of
Satavahana Kingdom.

4x3=12

12

12

{ Continued }

(3)

4. Write an essay on agrarian expansion and

22P—5000/ 1359

urban changes from 4th Century AD to
750 AD. :

Or

Analyze the problem of urban decline with
special reference to trade, currency and
urban settlement from 4th Century to
750 AD.

Trace the growth and development of

Puranic Theistic cults during the period of
your study. '

.Or

Evaluate the developments in the field of
religiouis beliefs and practices between

300 BCE to 750 CE.

Prepare a brief note on scientific. and

technical. treatises of Ancient India.
- Or
of temple

Outline the main ' features

architecture between 4th Century CE to -

750 CE.

ok e

12

12

12
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2022
(| June [July )

~ ENGLISH
( Core )
_ Paper : C~-4
( British Poetry and Drama )' |

Full Marks : 80
Pass Marks: 32 .

Time : 3 hours

The figures in the margin indicate full marks
: ' for the questions :

- UNT—I
1. Answer ‘any one of the fol.lowing . 15
(a) Write a' note on the main theme
of ‘The Nun’s Priest’s Tale’ in The

Canterbury Tales. Illustrate it with
~ suitable examples from the text.

{b} Critically appreciate Sonnet LVI
‘Sweet Warrior ...” by Edmund Spenser
highlighting the features of a
Spenserian sonnet.

22P/1350 - ' - { Turn Over )



(2)

{cj Discuss how the themes of
friendship, disappointment and hope
are interwoven by Shakespeare - in

- Sonmnet 30.

{d) What is a metaphysical conceit? Show
how John Donne made use of this
device in his poems, The Sunne Rising
‘and Death Be Not Proud. '

2. Write a short answer on any one of the

following : 5.

(@) Explain The Nun’s Priest’s Tale’ by
Geoffrey Chaucer as a ‘Beast Fable’

(b} “Again 1 wrote it with a second hand.”
Why and who wrote it for the second .
fime? A

{c) - Comment on ‘the use of imagery in
Sonnet 116 by Shakespeare.

(d) Write a note on the major features of
metaphysical : poetry. '

-UNIT—'II
3. Answer any one of the following - .15

{a) -Discuss Doctor Faustus as a typlca.l_
. Renaissance Man. :
(5) Do you cons;der ‘Doctor Faustus by
 Marlowe as a tragedy? Give reasons
. . .for . your answer. ' :
‘{c} . Comment on the role of the Good Angel
and the Evil Angel in Doctor Faustus.

22P/1350 { Continued )

( 3%

4. Write a short answer on any one of the
following : 5

{a) Write a descnptlon of hell as it is
~ variously described and presented in
Doctor Faustus

(b) How is the unage of the fall’ used
‘throughout the play? '

fc} -~ Write a note on the Seven Deadly Sins
| in Doctor Faustus o '

UNIT—IIT

5. Answer any one of the following : - 15
{a} * “Macbeth is' neither a loathsome nor
"~ ° aheroic character, but a mixture of
both.” Discuss the statement on the
basis of your reading of the play.
~ (b} Discuss the significance of the sleep .
- walking scene in Macbeth. . 3
- {¢) Discuss the role played by Banquo 1n '
© the play, Macbeth. L

6. Write a short answer on any one of the
following : e T : A 5
{a) “Fair is foul and foul is fair.

‘Hover through the fog and filthy air.”
Bring out the significance of the hnes

(b} What are the three apparitions? What
did they tell Macbeth? What do they
symbolize?

{0 Comment briefly on the character
: of Macduff.

22Pf1350 . - . . { Turn Over)



(4}

UNIT—IV

7. Answer any one of the foliowing : 15

(a) Write a note on the role of the female
characters in Shakespeare’s play,
Twelfth Night. '

(b} How does Orsino’s ‘' opening speech
relate to the rest of the play? What
do you learn about Orsino’s character
from this speech?

(0 How does Shakespeare trace the

- theme of love through the development
of different characters in the play,
Twelfth Night ?

8. ‘Write a short answer on any one of the

. following : - 5

(a) Comment on the function of music 1n
- Twelfth Night. : '

{b) Write a note on the appropriateness of
the title of the play, Twelfth Night -

(¢ Discuss the characteristics of a
romantic comedy. w1th reference to
Twelfth N:ght.

Ckk Ak

22P—4000/1350 2 SEM TDC ENGH (CBCS) C 4
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2022
( June/July )

EDUCATION
( Core )

Paper : c4

'( Educational Administration and Management )

Fuil Marks : 80
Pass Marks : 32

Time | : 3 hours

The figures in the margin indicate _ﬁtﬂ marks

Jor the questions

1. Answer briefly : 1x%4=4

(a)

“Management is the art of getting things
done through the efforts of other

people.” Who said this?

Write any one function of educational
management,

Mention ariy one  principle - of
educational leadership. '

Who is called the Father of TQM?

22P/1358" _ ' { Turn Over } _



(2)

2. Fill in the blanks : 1x4=4

3.

22P/1358

fa} The full form of SWOT is .

(b) One of the leadership "development
programmes is .

()

is an important source of
educational finance, '

{d) Equality and equity is a principle of
' planning. :
Write short notes on : ' 4x5=20

{a) Difference between management and
administration

{b} .Functions of educati'oh_al leadership

{c} Grassrﬁot level planning

{d} Total Quality Management

{e) Use of computer in management of

finance
What is  educational = management?
Describe the different types of edu_cational
management., _ 2+8=10
| Or

Define educational ma_ﬁagément. Discuss the
different types of resources in education,
' 2+8=10

{ Continued }

22P/1358

(3)

Define leadership. Discuss the nature and
principles of educational leadership. 2+4+4=10

Or

‘What is leadership style? Describe the

Laissez-faire leadership style in education.
2+8=10

What is educational planning? Discuss the
nature and principles of educational
planning. _ 2+8=10

Or
What is long-term planning' in education?
Describe the factors that affect in
educational planning, 2+8=10

>

" What do you _' mean by . educational

supervision? Discuss the objectives and
functions of educational supervision.  3+8=11

Or
Describe_. the prbblems in conducting

educational supervision. 11

{ Turn Over )



( 4}

8. {a} What is educational finance? Discuss
the importance of maintenance - of
records in educational finance. 3+3=6

(b} What ‘is educational budget? Discuss
the process of preparing institutional
budget. ' o 2+3=5

% Jc A

22?—8000/1358 2 SEM TDC EDNH (CBCS) C 4
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2022
( June/July }

POLITICAL SCIENCE
( Core ) B

Paper : C-4 .
~ { Political Process in India )

Full Marks : 80
Pass Marks : 32

'Time:Shour‘s :

The ﬁgunes in the margin mdwate Jull marks
for the questaons

1. Answer the following questions 1x8=8
fa) Identify one major réason for the advent

of multi-party .coalitions in 1989 in the
Union of India,

" {b) - What do you‘ mean by ‘class"r‘

f¢j 1s NPP a- reglonal polmcal party in
'Ind1a'9‘

22P/1362 S ( Turh Over )



3.

22P/1362

(2)
(d) Mention one book written by Rajni
Kothari. S
(e} What is political globalization?
() What is defection?

{g). Mention one distinct feature of Indian
secularism. '

fh) What is a Welfare State?
Write short notes on the following : 4x4=16
fa) Party system and democracy in India

(b} Gender as a determinant of voting
~ behaviour in India

{c) '~ Coercive dimensions of Indian State

{d} Gandhian notion of Indian secularism

Attempt to highlight the major trends in the
party system in India since 2004, . 12

Or

.Identify the major drawbacks of the Indian

party system. Suggest measures for making

‘Indian party system.more democratic. 8+4=12

{ Continued )

220P—10%/1362

(8)

Write a note on political mobilization in
India. Have you noticed any change in it in

the recent past? Substantiate. 8+3=11
Or '

Evaluate how caste determines voting

behaviour in India. _ 11

Write a comprehensive note on politics of

secession and accommodation in India. 11
Or

Identify the major causes for the growth of _

regionalism in India. 11

Discuss the principal debates on majority vs.

minority communalism in Indian context. 11
Or _

Discuss how secularism has been a

dominant issue in Indian politics. 11

‘Discuss the nature and operational

dimensions of Indian State during

globalization. 11
Or

Write a’ note on changing contexts and -

shifting roles of Indian State with particular

emphasis on the perspective on development

dynamics. _ 11
e

2 SEM TDC PSCH (CBCS) C 4
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2022

(. June/July )
HISTORY
( Core ).
Paper : C4

( Social Formations and Cultural Patterns of
the Medieval World )

Full Marks : 80
Pass Marks : 32
Time : 3 hours

The figures in the margm indicate full marks
Jor the questions

1. (a) Answer the following questions in -
one word or in one sentence each :
. 1x8=8
() What was the hxghest position in
the Government of the Roman
Republic? '

(i} In ancient Roman cities, what was : |
- the term for the marketplace and
meeting area?

(i} Which 'was_ the privileged . social
class in ancient Roman ‘society?
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(2)

i) Who was the Roman God of sea
and freshwater?

(v} Which Roman Emperor was the
first to profess Christianity?

{vi) Where did feudalism originate?
(viii What do you mean by Ummah?
(viii) What is Zakat?

(b} Write short notes on any three of the
following : S

{i) Slavery in Roman Empire
(i) Crisis of Feudalism .

(i) Roman Art and Architecture
(iv) Sufism '

(v}  Pax Romana

Discuss the factors which ' contributed for

4x3=12

12

2.
the rise of the Roman Empire. -
Or
Give an account of the economy, trade and
urbanization in the Roman Empire.
" 3. Give an account of the Roman religious
beliefs and practices. . 12
or -
Write a note on the crisis of the Roman
Empire in the third century CE.
22P/ 1360 { Continued }
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- 5.
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(3)

Discuss the growth and development of
trade and towns in medieval Europe.

Or
Give an account of the technological

development in medieval Europe.

Explain the factors for the expansion of
Christianity in medieval Europe.

Or

Discuss the circumstances that led to the
establishment of Papal supremacy in
Europe.

Write a descriptive account on the origin and
development of Sharia law. '

Or

Give an account of trade and commerce
during the medieval period in central Islamic
lands. '

* kK
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1. Choose the correct answer from the
following : ' . 1x8=8

fa) Which of the following is & first-order
difference equation?

o QY
i) —~+ay=>b
(). e y,

-3

@ SYay=»b
dax?

i) Y1 +ay; =c¢

-fiv} All of the above
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(2)
(b} Let A be a matrix of

form' AB, if
) m=p
i) n=p
{ii) m=gq
iv) n=q

{c) If,qz[2 4 3

35 les’ then the norm of

matrix A is

) N(A)=5

(i) N(A)=9 -

(@) N(A)=4

fiv) None of the above

d) F ' .
(d) For a curve representing y = flxy

ir Ly
2=V then the curve is
) convex to the. origin
ffi) concave to the origin
{tii} horizontal tg X-dxis -
(iv} vertical on x-axis

22P/1356

: order mxn
be a matrix of order pxgq. Then A 2?1?1 g

are
conformabile for multiplication in the

( Conﬁnued } )

{3)

{e) The CES production function represents

(g

22P/1356

{ij increasing returns to scale

'{ii) diminishing returns to scale

(i} constant returns to scale

(fv) All of the above

A discriminating monopolist maximizes
his profit by selling quantity of products

@, and Q, in two sub-markets, market I
and market I respectively, when

@ GC_ SR SR
dQ 3Q; 80y
(i) MC=AR, = AR,
(i) MR, = MR, =AC
(i) None of the above '

Under perfect competition, a firm
attains equilibrium when its

i) 2 Chve
2

(III} 9’:’1:0 and E_T.I_:'—ve
- dQ do?

fiv). All of the abdve '
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(h)

2. Answer any four of the following :

(v)
e

{d)

(e)

( 4)

The budget constraint for a consumer
consuming two goods x and y with his
money income M, given the price of
x(Py) and price of y(P,) is expressed as

' C MU
i) % =__¥#
P, Py

(i) XP,+YPy<M

(iii) XP, +YP, 2 M

{iv) None of the above

help of an example.

Explain . the

: properties of CES
production function. '
If z=x%e?¥ then find 3z and %;
. : x Sy

What are the conditions of
unconstrained optimization for the

function with one independent variable -

and more than one independent
variables? : '

A consumer consumes two goods x; and
x4. His utility function is given by

U =u{x,, x,) and the budget line is given

by B=xB +x,FP;. TFind out the

conditions of consumer’s equilibrium.

22P/1356

4x4=16
(a) Explain the rank of a matrix with the

{ Continued )

3. (o)
(b)
4. (a)

22P/1356

@

i)

y

(4)

- and  the

)

()

{5)

Solve the following difference

equation : - 4
Yee1 —Yp =3 with y4 =5

Solve the following Cobweb model :

Q4 =a -BF

Qs = _y + 51::‘,—1

Qd = Qs . s
Write a short note on Cobweb
market model. _ _ 4

Given‘ the demand function
Qq =10-28F

supply function
Qs =-5+3F,_;. What is inter-
temporal equilibrium price? Find
the time path of B, and determine
whether stable  equilibrium s
attainable or not. 1+5+1=7

If A =|:l' 2:| , then show that
%2 ’

A% -3I=24 | 4
Solve the following set of equafions
by using Cramer’s rule : ' 4
3x+2y =12
2x+3z=16
4y +2z =20
{ Turn Over }



e 7))

(i} Write down two economic '
applications of matrix algebra. 9 fiii) What are the economic applications
Or of first-order and second-order
- partial differentiations? 2+2=4
®) () Explain with examples any five Or ‘
properties of determinant. 5 ] . o
(i) Fi . . K (b) () Derive elasticity of substitution for
) Find the value of the following C-D production function. - 4
determinant : ' 4
2 2 4 9 (i} Verify whether the Euler’s theorem
41 0 2| ' is satisfied or not for the following .
4100 : - production function : 6
.3 21 1 f Q=L5;3K—2;3
~ {i#) What is idempotent matrix? 1 | fii) Given the utility function,
5 S - i U=ulx y) =log(x? +4y?), find the
g (‘U ) Show thiilt the indifference curve marginal utility of x and marginal
representing the utility function of | . utility of 5. 2+42=4
- a consumer consuming two goods x : . . : :
and y is negatively slopped. 4 : .
2 . o 6. (a) In a monopoly market, the AR and TC
i) Given th t : ' - -
_ Q:AK“Llfa ?-rojucuon function * functions are AR=100-2Q and
. _ o 1n. o : C=_50~4.Q +2Qz. The  government
(1) average productivity of labour; imposes . a specific tax of ¥ 8 per unit.
{2} average productivity of capital; Examine the effect of tax on equilibrium -
{3) marginal physical productivity - S Dutput., price aad profit: - He3r3710
of labour; ? . : Or _
4) margina[' physical productivity - () The demand functions of a monopoly
of capital. 1+1+242=6 : in two different ~markets are given
. o by P =53-4Q, and F, =29 -30Q,
22P : S
/1356 o _ ( Continued | o _
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{8

and the fota.[ .cost  function is
C=20+5Q, where Q= ¢ +0,. Find—

fi) equilibrium outputs Q, and Q,;

fii) equilibrium prices B and P,;

(iif) maximum profit. 6+2+2=10

7. (@) (i) Maximize Y =5xx,, subject to
' . X #2x, =8 by applying Lagrange
multiplier, . _ '

{i) Given the wutility function,
U=2+x+2y+xy and the budget
constraint 4x+6y=94. Find out
equilibrium level of x and y which
will maximize total utility. 7

Or
(b)  {J  Minimize Y= x12 - X1 Xy +2X,,
' subject to 2x; +4x, =12, 4
fii) A producer desires to minimize:his
“cost of production, C=2L +5K, _
where L and K are the inputs,
subject to the satisfaction .of ‘the:
_ product_ion function Q.=1LK. Find
the optimum combination of L and
K in order to minimize cost of
production when output is 40. 7

* %k
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